l. % Multiplier les nombres décimaux par des puissances
W T de dix

Nom: Date: Note: _
1,849 x 10 = 1,083 x 10 =
7,46 x 10 = 8,024 x 10 =
3,629 x 10 = 9,704 x 1000 =
8,01 x 10000 = 7,264 x 1000 =
8,571 x 100000 = 7,859 x 10 =
8,999 x 10000 = 7,126 x 10 =
5,134 x 100 = 6,81 x 10000 =
5,19 x 10000 = 3,683 x 1000000 =
3,097 x 100 = 10,584 x 10 =
8,363 x 1000 = 6,203 x 100000 =
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é i ﬂ ? é Multiplier les nombres décimaux par des puissances
de dix

Nom: Date: Note:
1,849 x 10 = 18.49 1,083 x 10 =10.83
7,46 x 10 =74.6 8,024 x 10 = 80.24
3,629 x 10 = 36.29 9,704 x 1000 = 9704
8,01 x 10000 = 80100 7,264 x 1000 = 7264
8,571 x 100000 = 857100 7,859 x 10 = 78.59
8,999 x 10000 = 89990 7,126 x 10 ="71.26
5,134 x 100 =513.4 6, 81 x 10000 = 68100
5,19 x 10000 = 51900 3, 683 x 1000000 = 3683000
3,097 x 100 = 309.7 10, 584 x 10 = 105.84
8,363 x 1000 = 8363 6,203 x 100000 = 620300
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